
EGG 460 H | EGG 550 H
Aufbauanleitung | Assembly Instruction



2

EGG 460 H | EGG 550 H

Achtung
Bitte notieren Sie auf der Rückseite Ihrer Gebrauchsanweisung die Serien-
Nummer. Sie finden die Nummer auf der Plakette, welche
sich auf dem EGG befindet. OUTDOORCHEF kann Garantie und 
Ersatzteillieferungen nur mit der Serien-Nummer bearbeiten.
Outdoorchef AG operates a policy of continuous product development and improvement.
As such we reserve the right to alter product design and or 
technical specification without giving any prior notice.

Attention
Please write your serial number on the backside of the manual for future reference. 
You will find the number on the plate, which is on the EGG. OUTDOORCHEF can only 
supply spare parts and honour warranty returns when the serial number is available.



3

Lesen Sie die separate Bedienungsanleitung sorgfältig durch, bevor 
Sie Ihren OUTDOORCHEF Grill in Betrieb nehmen.
Please read the separate user manual carefully before using your OUTDOORCHEF Barbeque.

INHALTSVERZEICHNIS | TABLE OF CONTENTS

S.  4   Montagematerial | Hardware Set
S.  5   Aufbauanleitung | Assembly Instruction
S. 6   Ersatzteile | Spare Parts



4

EGG 460 H | EGG 550 H Montagematerial | Hardware Set

1 x

Open end wrench (S 10 + S 16)

a3 1 x

Open end wrench (S 13 + S 16)

a3

2x

Washer M6

a1

2x

Cap nut M6

A

EGG 460

2x

Washer M8

a1

2x

Cap nut M8

A

EGG 550



5

Aufbau | Assembly

a1
Ax2

 x2a1 x2A

 x1a3

1.



6

EGG 460 H | EGG 550 H

18

7

1
2

17

5

3

9

10

4

12

11

8

13

14

15

16

6



7

Ersatzteile | Spare parts

SPAREPARTS ERSATZTEIL-LISTE

Pos. Art. Nr. Description Beschreibung

1 ODC460/550-GD Cover valve EGG 460 / 550 Ersatzdeckel Gusseisen EGG 460 / 550

2 OCD460-THERM Thermometer EGG 460 Thermometer EGG 460

3 ODC460-BG Handle EGG 460 Ersatz Bambusgriff EGG 460

4 ODC460-ED Ceramic lid EGG 460 Ersatzdeckel EGG 460

5 ODC460-EK Body ceramic EGG 460 Ersatzkorpus EGG 460

6 ODC460-ES Hinge /Tensioning strap  EGG 460 Ersatzscharnier Set EGG 460

7 ODC460-EGR Grill grate EGG 460 Ersatz Grillrost EGG 460

8 ODC460-GL  Grid Lift EGG 460 Rosterhöhung EGG 460

9 ODC460-DS Deflector stone (1/2) EGG 460 Ersatz Deflektorstein (1/2) EGG 460

10 ODC460-LIFT Spacer EGG 460 Distanzstück EGG 460

11 ODC460-KK Coal basket EGG 460 Kohlekorb EGG 460

12 ODC460-FR Fire ring EGG 460 Feuerirng EGG 460 

13 ODC460-FBS Firebox segment EGG 460 Feuerbox Ersatzsegment EGG 460

14 ODC460-KR Charcoal grate EGG 460 Kohlerost EGG 460

15 ODC460-FM Firebox metal frame EGG 460 Feuerbox Metallrahmen EGG 460

16 ODC460-PS Protector stone EGG 460 Protektorstein EGG 460

17 ODC460-EDS Replacement gasket Set EGG 460 Ersatzdichtung Set EGG 460

18 ODC460-AH Ash hook EGG 460 Aschehaken EGG 460



8

EGG 460 H | EGG 550 H

18

2

5

7

1

17

3

9

4

12

11

10

8

14

15

16

13

6



9

SPAREPARTS ERSATZTEIL-LISTE

Pos. Art. Nr. Description Beschreibung

1 ODC460/550-GD Cover valve EGG 460 / 550 Ersatzdeckel Gusseisen EGG 460 / 550

2 ODC550-THERM Thermometer EGG 550 Thermometer EGG 550

3 ODC550-BG Handle EGG 550 Ersatz Bambusgriff EGG 550

4 ODC550-ED Ceramic lid EGG 550 Ersatzdeckel EGG 550

5 ODC550-EK Body ceramic EGG 550 Ersatzkorpus EGG 550

6 ODC550-ES Hinge /Tensioning strap  EGG 550 Ersatzscharnier Set EGG 550

7 ODC550-EGR Grill grate EGG 550 Ersatz Grillrost EGG 550

8 ODC550-GL Grid Lift EGG 550 Rosterhöhung EGG 550

9 ODC550-DS Deflector stone (1/2) EGG 550 Ersatz Deflektorstein (1/2) EGG 550

10 ODC550-LIFT Spacer EGG 550 Distanzstück EGG 550

11 ODC550-KK Coal basket EGG 550 Kohlekorb EGG 550

12 ODC550-FR Fire ring EGG 550 Feuerring EGG 550

13 ODC550-FBS Firebox segment EGG 550 Feuerbox Ersatzsegment EGG 550

14 ODC550-KR Charcoal grate EGG 550 Kohlerost EGG 550

15 ODC550-FM Firebox metal frame EGG 550 Feuerbox Metallrahmen EGG 550

16 ODC550-PS Protector stone EGG 550 Protektorstein EGG 550

17 ODC550-EDS Replacement gasket Set EGG 550 Ersatzdichtung Set EGG 550

18 ODC550-AH Ash hook EGG 550 Aschehaken EGG 550 



10

EGG 460 H | EGG 550 H

TO  TAKE NOTES:



11

TO  TAKE NOTES:



EGG H | MAI 2025

Outdoorchef AG | Eggbühlstrasse 28 | Postfach |  8050 Zürich | Switzerland | info@outdoorchef.com
Outdoorchef Deutschland GmbH | Wickerer Weg 13-15 | 65719 Hofheim am Taunus | Germany | info@outdoorchef.com


